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QUESTION 1

Refer to exhibits. 

Exhibit A, which shows the SD-WAN performance SLA and exhibit B shows the health of the participating SD-WAN
members. 

Based on the exhibits, which statement is correct? 

A. The dead member interface stays unavailable until an administrator manually brings the interface back. 

B. Port2 needs to wait 500 milliseconds to change the status from alive to dead. 

C. Static routes using port2 are active in the routing table. 

D. FortiGate has not received three consecutive requests from the SLA server configured for port2. 

Correct Answer: D 
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QUESTION 2

Refer to the exhibit. 

Which two statements about the debug output are true? (Choose two) 

A. The debug output shows per-IP shaper values and real-time readings. 

B. FortiGate provides statistics and reading based on historical traffic logs. 

C. Traffic being controlled by the traffic shaper is under 100 KB/s. 

D. This traffic shaper drops traffic that exceeds the set limits. 

Correct Answer: CD 

 

QUESTION 3

Which two interfaces are considered overlay links? (Choose two.) 

A. IPsec 

B. Physical 

C. LAG 

D. GRE 

Correct Answer: AD 

 

QUESTION 4

Refer to the exhibit. 
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Which two statements about the status of the VPN tunnel are true?
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